—= A
H & 0 & AF Y H A A
A Ll E M
S QRS
o4 oK 4G (=& &)
SH-EY .S (SH) - NEANY - BES 0l & o p/E-F HIRE
2 Xtel 3 H 5,020,865 5,044,675 223,810
= 640,123 628,895 11,228
= 667,508 707,508 A 40,000
| 82,570 82,570 0
S 40,000 40,000 0
== 711,480 711,894 A414
= 2,879,184 2,873,808 5,376
ol 2 & 2 =t Y 277,540 380,540 A 103,000
< 16,000 17,500 A 1,500
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= 6,400 5,200 1,200
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= 6,400 5,200 1,200
= 6,400 5,200 1,200
12 JIEtE A3 12,800 10,400 2,400
o F4A S|YLIYE SHEAY
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= 6,400 5,200 1,200
= 6,400 5,200 1,200
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T 3,600 6,300 A2,700
= 3,600 6,300 A2,700
301 et a3 7,200 12,600 A5,400
T 3,600 6,300 A2,700
= 3,600 6,300 A2,700
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T 3,600 6,300 A2,700
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DESTAY 24,000 26,720 A2,720
< 20,000 20,000 0
2 4,000 6,720 £2,720
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01 AbR 22t 8,960 14,960 6,000
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23 2,000,0002 2,000 5,000 A3,000
o g22 ME S 23 2,000,0009 2,000 5,000 A3,000
03 A2 bl 5,500 0,000 £4,500
o YXtel HEs 2Y S AF 5,500,000 5,500 10,000 £4,500
301 LAz 0 240 A 240
09 BAA Y2 A 0 240 £.240
o NEFE MY FTHDS HOK T
33 0¥ 0 240 £240
el 84 0 80,000 80,000
2 0 40,000 40,000
= 0 2,000 A12,000
2 0 28,000 28,000
307 212+01 & 0 80,000 80,000
2 0 40,000 40,000
= 0 2,000 A12,000
2 0 28,000 28,000
02 SIABMANSRE 0 80,000 80,000
SRERESIE 35 08 0 50,000 A50,000
2 0 25,000 £25,000
= 0 7,500 A7,500
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= 10,000 0 10,000
G 10,000 0 10,000
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b 9,570 7,570 2,000
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= 5,112 5,475 363
= 11,928 12,775 847
201 B2y 17,120 19,540 A2,420
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= 2,568 2,931 363
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= 40,000 40,000 0
< 40,000 40,000 0
2 136,409 120,000 16,409
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2 40,000 40,000 0
= 40,000 40,000 0
< 40,000 40,000 0
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01 Ak 22l 256,409 235,000 21,409
o MEA BHHASSE
27 188,408,208 * 14 188,409 140,000 48,409
2 30,000 30,000 0
s 40,000 40,000 0
2 118,409 70,000 48,409
o 4BW E2S MT UL NYE e
2 19,250,008 + 1A 19,250 46,250 £27,000
= 11,250 6,250 5,000
2 8,000 40,000 £32,000
03 A2 b 0 5,000 £5,000
o ABH $H HEA =N 0 5,000 £5,000
= 0 5,000 £5,000
Nedlgss 220,730 220,130 600
< 50,600 50,000 600
2 170, 130 170, 130 0
PEEEL! 211,932 211,332 600
= 50,600 50,000 600
2 161,332 161,332 0
Mot 2019 ALEE N2 HELH URAY 600 0 600
< 600 0 600
301 YerE A 600 0 600
< 600 0 600
02 B3N Z 600 0 600
o EA|Y HYHE SN2 HELH NN
o 600,000 600 0 600
= 600 0 600
NHHIES ¥ STHA 29 733,886 720,886 13,000
2 180,000 180,000 0
2 553,886 540,886 13,000
53 AYSR 2Y 619,778 606,778 13,000
2 180,000 180,000 0
2 439,778 426,778 13,000

- 183 -




2N
X ZH -
L= B

el

2 72 2 Rl ot
MUY ¥ 5THX 2Y

=
=3 MY

H0
02

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SENY SPHYS N (SDUX ZHMY)-53, 313,000 300,000 13,000
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=2} 13,000,0002 13,000 0 13,000
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< 26,994 26,331 663
2 92,958 91,411 1,547
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= 66,980 64,770 2,210
p] 61,520 60,520 1,000
< 26,994 26,331 663
2 74,993 73,446 1,547
FHAMGA 2 (220H) 123,460 119,040 4,420
= 61,730 59,520 2,210
< 18,519 17,856 663
2 43,211 41,664 1,547
101 Q121 b 123,460 119,040 4,420
=2 61,730 59,520 2,210
< 18,519 17,856 663
2 43,211 41,664 1,547
03 RIHA2ZRE S 123,460 119,040 4,420
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2F 20,740,000% 20,740 16,320 4,420
= 10,370 8,160 2,210
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2 7,259 5,712 1,547
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p] 61,520 60,520 1,000
101 Q121 b 61,520 60,520 1,000
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03 RIHA2Z R4 61,520 60,520 1,000
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o 2016E MEANE FAUSZNHE(BEAZ)
54,765,220& 54,766 0 54,766
o 20169 MEAE FAUSZNHE(ZBEAZ) 0
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